
Add-a-Piece Tournament of ECSC 2022 

Latvia, Riga 14.05.2022 (90') 
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1. MK, Original after Eugene Cook 

(Wilkes’ Spirit of the Times, 13 June 1868) 

KLLLLLLLLM 
NOPOPOPOPQ 
NPOPOPOXOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPWPOPOPQ 
NHOP0POP2Q 
RSSSSSSSST 

Add a white piece for a correct #2 

 

Solution: +wSg2, 1.Qa8! (1 point) 

2. MK, Original 

KLLLLLLLLM 
NOPOnOPOPQ 
NPOPOPOPOQ 
NOPO3¹POPQ 
NP¹POPOPOQ 
NOPO1OP©PQ 
NPOP»POPOQ 
NOPOPo¬OPQ 
NPOPOXOPOQ 
RSSSSSSSST 

Add white Bishop (wB) for a correct #2 

 

Solution: +wBc4, 1.Sh6! (1 point) 

 

Tries: +wBf5? (1.Se5! 1.e7!) +wBf7? (1.Se3! 1.Sf6!) 

3. MK, Original after Bjorn Haggqvist 

(Tidskrift for Shack, 1945) 

KLLLLLLLLM 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPWPOPOPQ 
NPO1OPOPOQ 
NOPOPoPOPQ 
NPOPO3OPOQ 
RSSSSSSSST 

Add white Knight (wS) for a correct Win 

 

Solution: +wSd1, 1.Rb4! (1 point)  

1…Bxd1 2.Rb1 Ke2 3.Ra1! Ke1 4.Kd3. 

4. Anirudh Daga, Original 

KLLLLLLLLM 
N2P0POPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPWQ 
RSSSSSSSST 

Add a piece for a correct h#2 (2 options) 

 

I)  Solution: +wPa5   1.Ka7 Rh6 2.Ka8 Ra6# 

 

II) Solution: +wBb7  1.Ka7 Ba8 2.Kxa8 Ra1# 
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5. MK, Original 

KLLLLLLLLM 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOP0POPQ 
NPOPOPOPOQ 
NOP2POPOPQ 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
RSSSSSSSST 

Add white Queen (wQ) and 2 black Rooks (bR) 

for a correct h#2 with the next mating position  

(2 options): 

 
KLLLLLLLLM 
NOPOPOPOPQ 
NPOPOPOPOQ 
NOPOP0POPQ 
NPOPGPOPOQ 
NOZ2POPOPQ 
NPOZOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
RSSSSSSSST 

h#2                                   2+3 

 

I)  Solution:   +wQb2 +bRc1 +bRb4,  

 

1.Rc2 Qe5 2.Rc3 Qd5# (1 point) 

 

II) Solution:   +wQb1 +bRc2 +bRb4,  

 

1.Rc1 Qf5 2.Rc3 Qd5# (1 point) 

6. Ben Smolkin, Original 

KLLLLLLLLM 
NOPO¬OPOPQ 
NPOPOPOPOQ 
NOPOP2POPQ 
NPOPOPOZOQ 
NOPOPOPO1Q 
NPOPOPOPOQ 
NOPOPOPOPQ 
NPOPOPOPOQ 
RSSSSSSSST 

Add a piece for a correct h=3 (2 options) 

 

I)  Solution: +wQb7,  

 

1.Sc6 Qxc6+ 2.Ke7 Kxg5 3.Kd8 Kf6= (1 point) 

 

II) Solution: +wQe7,  

 

1.Kf5 Qxd8 2.Kg6 Qf8 3.Kh7 Kxg5= (1 point) 
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